BK S:t Erik
Langfredagssilver 2017-04-14

Partavling, 18 bord, 36 par. Antal brickor: 42. Medel: 714.0.

Plac Par Poang % Namn MID Klubb
1 16 870 60.92 Niclas Johansson - Tore Stormo 14128 78250 BK S:tErik
2 13 857 60.01 UllaBritt Goldberg - Lars Goldberg 12649 9298 BK S:tErik
3 8 846 59.24  Peter Flodgvist - Ola Rimstedt 14778 88183 BK S:t Erik - Harplinge BK
4 11 842 58.96 Magnus Arve - Anders d"Aquino 40423 21174 BK S:tErik
5 7 836 58.54  Peter Térnblom - Kenneth Borin 2265 2076 BK S:tErik
6 31 788 55.18 Ola Weinberg - Anders Bjérkman 94278 56099 BK S:t Erik
7 28 787 55.11 Ylva Strandberg - Gudrun Strandberg 9217 4143 BK S:tErik
8 6 785 54.97 Pang Ventura - Magnus Lindkvist 48499 1831 Borléange BK - BK S:t Erik
9 17 784 54.90 Peter Carlsson - Mikael Rimstedt 11594 88184 BK S:t Erik - Harplinge BK
10 26 782 54.76 Kenneth Lofstrand - Stina Léfstrand 44356 44355 BK S:tErik
11 29 778 54.48 Patric Holmberg - Patric Ornfjard 17031 1373 BK S:tErik - Arla BK
12 21 767 53.71 Lennart Rehle - Harry Nisell 6599 50711 BK S:tErik
13 25 759 53.15 Lars Andersson - Tommy Eneqvist 13156 2243 BK S:t Erik - Tyres6 BK
14 22 754 52.80 Marcus Hjelte - Christer Werner 84282 53059 Uppsalabridgen - Norrorts Bridge
15 30 751 52.59 Jesper Rundin - Ulf Lundgren 80778 12024 Borlange BK - Tyresd BK
16 4 746 52.24  Anna Zack Efraimsson - Bengt-Erik Efraimsson 4049 127 BK S:t Erik
17 35 745 52.17 Claes Melin - Per Grivenfeldt 9105 89392 BK S:tErik
18 14 744 52.10 Niklas Hanson - Ola Hellblom 53164 29988 BK S:t Erik
19 24 737 51.61 Tora Philip - UIf Nehlin 7780 2000 BK S:tErik
20 18 726 50.84 Carmen Tuason - Lars Manneteg 89810 2944 BK S:t Erik - Uppsalabridgen
21 1 712 49.86 Yvonne Flodqvist - Ann-Britt Carlén 14805 88227 BK S:tErik
22 5 708 49.58 Carina Sundelius - Géran Nyqvist 59990 59859 BK S:t Erik
23 34 700 49.02 Kerstin Hastad - Bengt Lauthers 11222 32610 Danderyds BS - BK S:t Erik
24 3 697 48.81 Mats Sjoberg - Hans Granath 1198 16018 Filbyter Bridge
24 20 697 48.81 Anders Johansson - Ann-Margret Johansson 10188 13810 BK S:tErik
26 12 678 47.48 Masha Lindbé&ck - Daniel Lindbéck 82835 9121 IK MAKKABI
27 33 668 46.78 Lars Nilsson - Johan Safsten 43950 35452 BK S:t Erik - Uppsalabridgen
28 9 662 46.36  Per Adolphson - Annette Rotstein 80455 31971 BK S:tErik
29 36 623 43.63 Seymour Eriksson - Per Sdderberg 57716 18380 BK S:tErik - Arla BK
30 10 604 42.30 Jeanette Josefsson - Magdalena Ginste 16767 83512 Sthims-Polisens BS - BK S:t Erik
31 15 575 40.27 Eva Klingspor - Eva Zarins 26851 36267 BK S:tErik
32 27 550 38.52 Ewa Eriksson - Sven Martensson 80479 41916 BK S:tErik
33 19 548 38.38 Michael Hagelin - Margit Belenius 62052 93605 BK S:t Erik - IK MAKKABI
33 23 548 38.38 Christine Claesson - Kerstin Karlstrém 17500 84774 SEB Bridge - BK S:t Erik
35 32 538 37.68 Ann Lofberg - Kalle Fyhr 31651 33110 BK S:tErik - Vanersborgs BS
36 2 512 35.85 Ulla Sjéwall - Marie-Louise Andersson 46456 14766 BK S:tErik
1 « DKn94 2 4 Kn9753 3 49
Nord v DKn1073 Ost v K52 Syd v K952
Ingen ¢32 NS + K4 ov ¢ KKn1096543
*64 £972 »-
4 K6532 48 4KD862 410 46 « EDKNn1075432
vE v 92 vD108 ¥EKn6 v 1064 vD
+Kn86 ¢ EK10954 493 + D8762 ¢ E82 ¢-
#KD95 &EKnN32 #EK6 «D843 #Kn98752 #D63
4 E107 aE4 4 K8
v K8654 v 9743 v EKn873
+D7 ¢ EKn105 +D7
#1087 #Kn105 #EK104
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
5 32 3NO-1 a A 50 320 20| 5 32 Pass 340 00| 5 32 54DO-3 #A 800 330 1.0
19 18 3NV-1 oA 50 320 20| 9 28 2NV= oA -120 250 9.0(29 8 54DO0O-3 #A 800 330 1.0
24 13 64 O-1 s A 50 320 20(15 22 2NV = a A 120 25,0 9.0(23 14 54DN= aA 550 30.0 4.0
4 33 3vS-2 a A -100 280 6.0|19 18 INO +1 oA -120 25,0 9.0(20 17 54D O-2 &A 500 280 6.0
23 14 34 O+2 aA -150 26.0 8.0(|21 16 INO+1 aA -120 25,0 9.0 3 34 5v S= s A 450 22.0 120
29 8 340+3 aA -170 240 10.0(27 10 2NV = a A -120 25,0 9.0| 4 33 5v N= s A 450 22.0 120
11 26 54 V= a A -400 22.0 12.0{30 7 INO+1 aA -120 25,0 9.0(11 26 5v S= a A 450 22.0 120
2 35 56 O+1 #4A -420 17.0 17.0(31 6 INO+1 aA -120 25,0 9.0(25 12 5v S= s A 450 22.0 120
27 10 5¢ O+1 4A -420 170 17.0(36 1 INO+1 aA -120 25,0 9.0(27 10 5v S= s A 450 22.0 120
30 7 540+1 4A -420 17.0 17.0| 3 34 24 V+1 oA -140 16.0 18.0| 9 28 54 O-3 oA 300 16.0 18.0
31 6 5¢ O+l  &A -420 17.0 17.0| 4 33 INO+2 oA -150 10.0 24.0| 2 35 54 O-2 oA 200 13.0 21.0
3 34 56 O+2 aA -440 12.0 22.0|11 26 INV+2 a A -150 100 24.0(36 1 54DO-1 aA 200 13.0 21.0
25 12 3NO +2 aA -460 10.0 24.0(24 13 2NV +1 oA -150 10.0 24.0(30 7 6NS-1 oA -50 9.0 25.0
9 28 6¢ O= oA -920 50 29.0|25 12 INO+2 oA -150 100 24.0(31 6 6v S-1 oA -50 9.0 25.0
15 22 6¢ O= s A -920 50 29.0|129 8 INO+2 a A -150 10.0 24.0(15 22 6vDS-1 aA -100 4.0 30.0
20 17 6¢ O= a A -920 5.0 29.0|23 14 INO+3 oA -180 40 30.0(19 18 6¢DN-1 4A -100 4.0 30.0
21 16 64 O= oA -920 5.0 29.0|20 17 3NV= oA -400 2.0 32.0|21 16 6¢DN-1 &A -100 4.0 30.0
36 1 5vDS-5 &A -1100 0.0 34.0| 2 35 3NV+1 aA -430 0.0 34.0|24 13 6vDS-2 4A -300 0.0 34.0
4 « D83 5 4 Kn754 6 4 K532
Vast v972 Nord vKn1063 Ost v K5
Alla ¢+ KD73 NS +D5 ov + D642
#EKn10 #D42 #953
a2 # EKKn4 4863 & K1092 4 EKN1097 484
v 108643 v EKKn v K84 v D952 v986432 vEDKn
4109842 ¢ Kn6 496 + Kn10 +3 ¢ EKKn8
«87 #9642 #K10753 #E98 8 #DKn64
4109765 «ED 4 D6
vD5 vE7 v 107
¢E5 ¢ EK87432 ¢ 10975
&#KD53 #Kn6 #EK1072
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
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24 15 4vyDV-2 aA 500 340 0.0]21 18 3NS+2 s A 660 1.0 3NV -2 s A 200 34.0 0.0
12 27 4v O-2 aA 200 31.0 3.0|25 14 3NS+2 aA 660 . 1.0 3NO-1 aA 100 31.0 3.0
20 19 INDO-1 oA 200 31.0 30| 3 35 3NS+1 aA 630 . 9.0 3NO-1 aA 100 31.0 3.0
36 2 INN+2 aA 150 280 6.0 4 34 3NN+1 s A 630 . 9.0 2¢ O= s A -90 28.0 6.0
16 23 INN+1 aA 120 250 90|16 23 3NS+1 aA 630 . 9.0 2v V +3 aA -200 26.0 8.0
26 13 INN+1 aA 120 250 9.0(22 17 3NN+1 aA 630 . 9.0 3NO = aA -600 24.0 10.0
3 35 24 N= s A 110 19.0 15.0(28 11 3NN+1 s A 630 . 9.0 4v O = s A -620 20.0 14.0
10 29 24 S= aA 110 19.0 150(30 9 3NS+1 aA 630 . 9.0 4v O = aA -620 20.0 14.0
21 18 24 S= aA 110 19.0 150| 6 32 2NS+3 aA 210 .0 16.0 4y V = aA -620 20.0 14.0
28 11 24 S= s A 110 19.0 150(31 8 2NS+2 aA 180 .0 18.0 4v O +1 aA -650 10.0 24.0
30 9 INN= aA 90 140 20.0(20 19 3¢ S+2 aA 150 13.0 21.0 4v V +1 aA -650 10.0 24.0
4 34 34 N-1 aA -100 9.0 25.0|36 2 3¢ S+2 aA 150 13.0 21.0 4v V +1 aA -650 10.0 24.0
5 33 34S-1 s A -100 9.0 250| 1 7 3¢ S+l aA 130 5.0 29.0 4v V +1 aA -650 10.0 24.0
6 32 34S-1 aA -100 9.0 25.0| 5 33 3¢ S+1 aA 130 5.0 29.0 4v O +1 aA -650 10.0 24.0
22 17 34 S-1 aA -100 9.0 25.0(10 29 3¢ S+1 aA 130 50 29.0 4v V +1 aA -650 10.0 24.0
1 7 2v0= s A -110 40 30.0(12 27 3¢ S+1 aA 130 5.0 29.0 4v V +1 aA -650 10.0 24.0
31 8 2v V+2 aA -170 20 32.0|24 15 3¢ S+1 aA 130 5.0 29.0 4v V +2 aA -680 1.0 33.0
25 14 34DS-1 #A -200 0.0 34.0(26 13 3¢ S+1 aA 130 50 29.0 4y V +2 aA -680 1.0 33.0
7 « EK87 8 « ED43 « D103
Syd v EDKn74 Vast vD9 v K7
Alla ¢ K82 Ingen ¢ KKn5 + 108654
&E #10643 #DKn5
4« Kn6 410 4 Kn9862 41075 492 &« EK74
v 1086 v K32 v K764 v53 vE1094 v DKn53
¢ Kn1096 ¢ E753 +6 + E10987 ¢Kn73 ¢ EK
#DKn74 #109832 #K95 #ED2 K972 #ES83
4« D95432 s K 4 Kn865
v 95 v EKn1082 v 862
¢+ D4 ¢ D432 + D92
£K65 &Kn87 21064
Par Kontr ut Res Poang Par Kontr ut Res g Kontr Ut Res Poang
6 33 64 N+1 A 1460 340 0.0(22 19 3NN+1 s A 430 0.0 3NO = s A -600 29.0 5.0
13 28 64 S= A 1430 31.0 30| 6 33 3NN= aA 400 2.0 3NO = aA -600 29.0 5.0
26 15 64 S= A 1430 31.0 3.0|17 24 INN+2 s A 150 4.0 3NO = s A -600 29.0 5.0
4 35 44 S+2 s A 680 23.0 11.0(11 30 2NN= s A 120 6.0 3NO = s A -600 29.0 5.0
11 30 44 S+2 aA 680 23.0 11.0|13 28 2¢DO-1 A 100 8.0 3NO = aA -600 29.0 5.0
17 24 44 S +2 s A 680 23.0 11.0(31 10 24 N= s A 90 10.0 3NO = s A -600 29.0 5.0
21 20 44 S+2 s A 680 23.0 110 5 34 2NN-1 s A -50 16.0 3N O +1 aA -630 22.0 12.0
25 16 44 N+2 aA 680 23.0 11.0|21 20 3NN-1 aA -50 16.0 4v O +1 aA -650 13.0 21.0
31 10 44 S+2 s A 680 23.0 11.0(23 18 3NS-1 s A -50 16.0 4v V +1 aA -650 13.0 21.0
1 9 4v N+l aA 650 120 22.0(25 16 2NN-1 s A -50 16.0 4v O +1 aA -650 13.0 21.0
22 19 44 S+1 aA 650 120 22.0(29 12 24 N-1 aA -50 16.0 4v V +1 aA -650 13.0 21.0
23 18 44 S+1 s A 650 120 220 1 9 3NN-2 s A -100 23.0 4v O +1 aA -650 13.0 21.0
27 14 44 S+1 s A 650 12.0 22.0(27 14 3NN-2 s A -100 23.0 4v O +1 aA -650 13.0 21.0
36 3 4v S+1 aA 650 120 220 2 8 2NN-3 aA -150 27.0 4v O +1 aA -650 13.0 21.0
2 8 3NN+1 s A 630 6.0 28.0|26 15 3v S-3 s A -150 27.0 4y O +1 aA -650 13.0 21.0
5 34 64 S-1 s A -100 20 320 7 32 INDV= s A -180 30.0 3N O +2 aA -660 4.0 30.0
7 32 64 S-1 aA -100 20 32036 3 24DV= aA -470 32.0 4y O +2 aA -680 1.0 33.0
29 12 64 S-1 s A -100 20 320 4 35 24DV +1 aA -570 34.0 4v O +2 aA -680 1.0 33.0
10 «D4 11 « E10532 « EK542
Ost v K10872 Syd v K72 vK
Alla ¢ EKn Ingen ¢ Kn43 + D1094
#DKn42 £98 #653
4 Kn763 «EK1092 4« KDKn4 a7 & DKn 410986
vKn63 vE v Kn5 v ED984 vKn983 vEDI10
+8 + K1092 ¢+D + E10865 + K8 ¢ Kn76
#E10753 #K86 #Kn107542 &E3 #KD1042 4987
485 # 986 473
v D954 v 1063 v 76542
¢ D76543 ¢ K972 ¢ E532
&9 #KD6 #EKn
Par Kontr ut Res Poang Par Kontr ut Res Kontr Ut Res Poang
8 32 2NV = s A -120 340 0.0(28 15 3NV-3 s A 150 0.0 2v V-2 s A 100 330 1.0
24 19 34 O+2 aA 200 320 20| 1 11 3vO-1 aA 50 6.0 3% V-2 aA 100 330 10
14 29 5¢ S-3 s A -300 300 40| 3 9 3NV-1 s A 50 6.0 2¢ N= s A 90 29.0 5.0
1 11 44 O+1 s A -650 14.0 20.0| 6 34 3NV-1 s A 50 6.0 2¢ N= 4 A 90 29.0 5.0
2 10 44 O+1 aA -650 14.0 20.0| 8 32 3NO-1 aA 50 6.0 14 N= aA 80 26.0 8.0
3 9 44 0+1 s A -650 14.0 20.0|24 19 3NO-1 s A 50 6.0 2v V-1 s A 50 22.0 12.0
5 35 44 O+1 s A -650 14.0 20.0|36 4 2v O= s A -110 .0 12.0 3 V-1 4 A 50 22.0 12.0
6 34 44 O+1 aA -650 14.0 20.0| 7 33 3vO= aA -140 .0 15.0 2vO0-1 aA 50 22.0 12.0
7 33 44 O+1 aA -650 14.0 20.0|14 29 2v O+1 s A -140 .0 15.0 INO= s A -90 17.0 17.0
12 31 44 O+1 aA -650 14.0 20.0|12 31 3v O+1 s A -170 .0 20.0 286 V= 4 A -90 17.0 17.0
18 25 44 O +1 s A -650 14.0 20.0|22 21 2v O +2 aA -170 4.0 20.0 1a N-1 aA -100 13.0 21.0
22 21 44 O+1 aA -650 14.0 20.0|30 13 2v O +2 s A -170 4.0 20.0 la N-1 s A -100 13.0 21.0
23 20 44 O+1 s A -650 14.0 20.0| 5 35 3NO= s A -400 7.0 27.0 2v V= 4 A -110 9.0 25.0
26 17 44 O+1 aA -650 14.0 20.0|23 20 3NV= aA -400 7.0 27.0 24V +1 aA -110 9.0 25.0
27 16 44 O+1 aA -650 14.0 20.0|26 17 3NV = s A -400 7.0 27.0 INO +1 aA -120 6.0 28.0
28 15 44 O+1 aA -650 14.0 20.0|27 16 3NV = s A -400 7.0 27.0 IN O +2 aA -150 4.0 30.0
30 13 44 O+1 aA -650 14.0 20.0| 2 10 3BNO +1 aA -430 1.0 33.0 34 N-2 aA -200 2.0 320
36 4 44 O+1 aA -650 14.0 20.0|{18 25 3NV +1 s A -430 1.0 33.0 INS-3 s A -300 0.0 34.0

BK S:t Erik, Langfredagssilver 2017-04-14, sida 2 av 6




13 « D96 14 #» EK76 15 « E107653
Nord vKn7652 Ost vD102 Syd vE9
Alla ¢ Kn5 Ingen ¢+ Kn3 NS ¢+ D752
#Kn42 #KKn64 &Kn
4 E872 4K4 41095 & Kn42 « D94 & K
vK8 vED10 v K3 v 985 vDKn8763 v 10
+ KD83 ¢ 9642 ¢ E95 + KD72 *4 + E1063
#E53  #K1087 #E10952 #D73 #1076 #EK85432
4« Kn1053 « D83 & Kn82
v 943 v EKNn764 v K542
¢ E107 + 10864 + KKn98
D96 L 2] D9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
9 32 3NO= s A -600 33.0 10| 7 34 3NN+1 s A 430 340 00|25 20 44 N= s A 620 34.0 0.0
36 5 3NO= aA -600 330 1.0(29 16 2v S+2 aA 170 320 20| 9 32 34 N= aA 140 31.0 3.0
6 35 3NV +1 aA -630 25.0 9.0| 8 33 INN+2 aA 150 29.0 50|27 18 34 N= aA 140 31.0 3.0
19 26 3NO+1 s A -630 25.0 9.0|23 22 34 0-3 s A 150 29.0 50| 4 10 44 N-1 s A -100 28.0 6.0
24 21 3NO+1 aA -630 250 9.0| 3 11 2vS+1 aA 140 18.0 16.0|13 1 4#0= aA -130 26.0 8.0
27 18 3NO+1 aA -630 25.0 9.0| 4 10 2v S+1 aA 140 180 16.0| 2 12 44 O+1 aA -150 20.0 14.0
28 17 3NO+1 s A -630 25.0 9.0| 6 35 2v N+1 aA 140 18.0 16.0| 7 34 44 O+1 aA -150 20.0 14.0
31 14 3NV +1 aA 630 25.0 9.0(13 1 2v N+1 aA 140 180 16.0(24 21 44 O+1 aA -150 20.0 14.0
2 12 3NO+2 aA -660 9.0 25.0(24 21 2v N+1 aA 140 18.0 16.0(28 17 44 O+1 aA -150 20.0 14.0
3 11 3NO+2 aA -660 9.0 25.0|25 20 24 N+1 aA 140 180 16.0(36 5 44 0O+1 aA -150 20.0 14.0
4 10 3NO+2 aA -660 9.0 25.0|28 17 2v N+1 aA 140 18.0 16.0| 6 35 5# 0= aA -400 11.0 23.0
7 34 3NO+2 aA -660 9.0 25.0(31 14 3v S= aA 140 180 16.0| 8 33 54 0= aA -400 11.0 23.0
8 33 3NO+2 s A -660 9.0 25036 5 3vS= s A 140 18.0 16.0(29 16 5# O = s A -400 11.0 23.0
13 1 3NO+2 aA -660 9.0 25.0| 2 12 2v S= aA 110 7.0 27.0|31 14 5#0-= aA -400 11.0 23.0
15 30 3NO +2 aA -660 9.0 25.0(27 18 2v S= aA 110 70 270 3 11 54DO= &A -550 4.0 30.0
23 22 3NO+2 s A -660 9.0 250 9 32 4v S-1 s A -50 3.0 31.0(15 30 54DO= &A -550 4.0 30.0
25 20 3NV +2 aA -660 9.0 25.0|15 30 3v S-1 aA -50 3.0 31.0|23 22 54D O = 4A -550 4.0 30.0
29 16 3NV +2 aA -660 9.0 25.0(19 26 44 N-4 aA -200 0.0 34.0(19 26 44D O +2 &A -710 0.0 34.0
16 4 8652 17 « K974 18 #1098
Vast vD2 Nord v 984 Ost v KD1086
ov ¢ EKn953 Ingen + Kn1074 NS 443
£104 K2 #D83
4 K103 4 Kn97 s E D852 « ED7 & KKn432
v10843 vK97 v732 v 105 v- v 52
+ D10 4762 ¢ EK853 ¢ D92 ¢+ EK1076 ¢ 982
#E972 &KDKn5 #10976 #DKn53 #EK965 #Knl107
« ED4 4« Kn1063 465
v EKn65 v EKDKn6 v EKNn9743
+ K84 +6 ¢ DKn5
#863 &E84 42
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
16 31 INS+3 s A 180 340 00| 4 12 4v S= s A 420 290 50| 7 35 4v V-4 s A 200 34.0 0.0
5 11 INN+2 aA 150 29.0 50| 7 35 4v S= aA 420 290 50| 9 33 3NO-2 a A 100 31.0 3.0
20 27 INS+2 s A 150 290 50| 8 34 4v S= s A 420 29.0 50|20 27 3NV-2 s A 100 31.0 3.0
24 23 INS+2 s A 150 29.0 50|29 18 4v S= s A 420 290 50| 4 12 2NV-1 s A 50 270 7.0
28 19 INS+2 aA 150 29.0 50|30 17 4v S= aA 420 290 50| 5 11 6+V-1 a A 50 270 7.0
1 15 INS+1 s A 120 19.0 150|36 6 4v S= s A 420 290 50| 8 34 44V +1 s A -150 22.0 12.0
3 13 INS+1 s A 120 19.0 150| 3 13 3v S+1 s A 170 17.0 17.0(28 19 4¢ V+1 aA -150 22.0 12.0
4 12 INS+1 aA 120 19.0 15.0| 9 33 3v S+1 aA 170 17.0 17.0|29 18 4¢ V+1 aA -150 22.0 12.0
8 34 INN+1 s A 120 19.0 15.0(10 32 3v S+1 s A 170 170 170 1 15 4vyDS-1 &A -200 18.0 16.0
26 21 INS+1 s A 120 19.0 15.0(16 31 3v S+1 s A 170 17.0 17.0(10 32 58V = s A -400 15.0 19.0
29 18 2NS= aA 120 19.0 15.0(24 23 3v S+1 aA 170 170 17.0(26 21 54 0= a A -400 15.0 19.0
7 35 3¢ N= s A 110 8.0 26.0|26 21 3v S+l s A 170 170 170(14 2 44 O= s A -420  12.0 22.0
9 33 24 N= s A 110 8.0 26.0|20 27 3v S= s A 140 9.0 25.0(24 23 44 O+1 aA -450 8.0 26.0
14 2 3¢ S= aA 110 8.0 26.0|28 19 3v S= aA 140 9.0 25.0(25 22 44 O+1 a A -450 8.0 26.0
25 22 2¢ N+1 s A 110 8.0 26.0(25 22 3¢DV-1 oA 100 6.0 28.0|36 6 44 V+1 aA -450 8.0 26.0
36 6 2¢ N+1 s A 110 80 260| 5 11 34 N-1 s A -50 40 300 3 13 44 O+2 aA -480 4.0 30.0
30 17 INV-1 aA 100 20 320| 1 15 4vS-2 aA -100 20 32016 31 64 O= a A -980 1.0 33.0
10 32 14 N= s A 80 0.0 34014 2 44 N-3 s A -150 0.0 34.0|30 17 64 O= s A -980 1.0 33.0
19 +« ED5S 20 1092 21 & Kn
Syd v 87 Vast vKn3 Nord v 9852
ov + D10653 Alla ¢ E32 NS ¢+ KKn974
D73 #EDKnN86 #EKn6
4 KKn7 4108632 « DKn87 & EK63 4 K96 4532
vE102 vKDKn5 vK642  vD97 vDKnl0 v764
4987 +K4 ¢+ KD76 #1095 ¢1065 ¢ ED3
K964 #ES8 &K #753 #9853  #10742
494 454 «ED10874
v 9643 v E1085 v EK3
¢ EKn2 ¢+ Kn84 ¢ 82
#Kn1052 £10942 KD
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
2 16 3NV-3 s A 300 33.0 10|31 18 3#DN= &A 670 340 0.0| 5 13 3NN+2 aA 660 34.0 0.0
8 35 4v V-3 aA 300 330 10|26 23 3v V-3 aA 300 31.0 3.0(31 18 3NN+1 aA 630 320 20
15 3 44 V-2 s A 200 30.0 4.0|29 20 3v V-3 s A 300 31.0 3.0| 4 14 44 S= s A 620 19.0 15.0
6 12 44 O-1 s A 100 240 100| 5 13 2v V-2 s A 200 270 70| 6 12 44 S= 4 A 620 19.0 15.0
11 32 2v0O-1 aA 100 240 100(11 32 2v O-2 aA 200 270 70| 8 35 44 S= aA 620 19.0 15.0
21 28 44 O-1 s A 100 240 100| 4 14 24 O-1 s A 100 20.0 14.0|11 32 44 S= s A 620 19.0 15.0
25 24 44 O-1 s A 100 240 100| 6 12 34 O-1 s A 100 20.0 140|15 3 44 S= 4 A 620 19.0 15.0
36 7 44 0O-1 aA 100 240 10.0| 8 35 2v V-1 aA 100 20.0 140|117 1 44 S-= aA 620 19.0 15.0
17 1 34 0= s A -140 150 19.0|25 24 2NV-1 s A 100 20.0 14.0|21 28 44 S= & A 620 19.0 15.0
26 23 34 O= s A -140 150 19.0|36 7 3NV-1 s A 100 20.0 14.0|25 24 44 S= 4 A 620 19.0 15.0
30 19 24 O+1 aA -140 15.0 19.0|15 3 INV= aA -90 14.0 20.0|26 23 44 S= aA 620 19.0 15.0
31 18 34 O= s A -140 150 19.0|10 33 2v V= s A -110 120 22.0|29 20 44 S= s A 620 19.0 15.0
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27 22 34 O+1 4A -170 9.0 250| 2 16 2+ V+1 & A -140 8.0 26.0|30 19 44 S= LY 620 19.0 15.0
29 20 24 O+2 4A -170 9.0 25.0|21 28 24 O+1 4A -140 8.0 26.0|36 7 44 S= & A 620 19.0 15.0
4 14 44 O= s A -620 3.0 31.0|30 19 24 V+1 s A -140 8.0 26.0| 2 16 34 S+1 s A 170 6.0 28.0
5 13 44 O= LY -620 3.0 31.0| 9 34 24 O+2 4A -170 40 300| 9 34 44 S-1 LY -100 20 320
9 34 44 O= & A -620 30 31017 1 4«N-2 & A -200 20 32.0|10 33 44 S-1 & A -100 20 320
10 33 44 O= oA -620 3.0 31.0|27 22 44DN-2 &A -500 0.0 34.0|27 22 44 S-1 s A -100 2.0 32.0
22  Kn7643 23 « K96 24 «D10984
Ost vKD Syd v 9432 Vast vD4
ov ¢ E432 Alla + Kn83 Ingen ¢+ Kn
#Kn3 #E53 #Kn9843
452 «E109 4 D432 4Knl087 465 4 EKNn72
v1096 v8 v E65 vKD8 vE10752 v63
+1096 ¢ KDKn75 ¢ 105 + D64 ¢ 109 + D87653
#K9762 #D1085 #Kn987 #KD4 #KD106 #5
« KD8 «E5 «K3
v EKn75432 v Kn107 v KKn98
+8 ¢ EK972 ¢ EK42
*E4 #1062 *E72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
16 4 6v S= 4 A 980 340 00| 1 19 INS+2 LY 150 340 0.0({31 20 3NS+1 & A 430 340 0.0
1 19 4v S+2 oA 480 23.0 11.0(31 20 3¢ S+1 oA 130 320 2.0(12 32 3NS= oA 400 31.0 3.0
3 17 4v S+2 s A 480 23.0 110| 7 13 INS+1 s A 120 280 6.0(28 23 3NS= & A 400 31.0 3.0
10 34 4v S+2 & A 480 23.0 11.0(10 34 INS+1 & A 120 280 6.0 9 35 34 N= & A 140 28.0 6.0
11 33 4v S+2 oA 480 23.0 11.0(28 23 INS+1 oA 120 280 6.0 5 15 2NS= oA 120 26.0 8.0
12 32 44 N+2 s A 480 23.0 11.0|26 25 3¢ S= LY 110 240 100| 1 19 3v V-2 & A 100 24.0 10.0
18 2 44 N+2 & A 480 23.0 11.0( 9 35 INN= LY 90 18.0 16.0| 7 13 34 S-1 & A -50 18.0 16.0
22 29 4v S+2 oA 480 23.0 11011 33 INS= oA 90 18.0 16.0|11 33 3NS-1 oA -50 18.0 16.0
26 25 4v S+2 s A 480 23.0 11.0(12 32 INS= LY 90 18.0 16.0|18 2 3NS-1 & A -50 18.0 16.0
30 21 4v S+2 & A 480 23.0 11.0(27 24 INS= LY 90 18.0 16.0|26 25 2NS-1 & A -50 18.0 16.0
31 20 44 N+2 s A 480 23.0 11.0(30 21 INS= oA 90 18.0 16.0|30 21 44 S-1 oA -50 18.0 16.0
5 15 4v S+1 s A 450 70 270|116 4 2vN-1 LY -100 10.0 24.0| 6 14 44 N-2 & A -100 11.0 23.0
6 14 4v S+1 & A 450 7.0 270|118 2 2NN-1 LY -100 10.0 24.0|22 29 3NS-2 & A -100 11.0 23.0
7 13 4v S+1 s A 450 7.0 27.0122 29 3¢ S-1 oA -100 10.0 24.0| 3 17 3NS-3 oA -150 6.0 28.0
9 35 4v S+1 s A 450 7.0 27.0| 3 17 24 V= LY -110 4.0 30027 24 44 N-3 & A -150 6.0 28.0
27 24 4v S+1 & A 450 7.0 27.0| 5 15 24 V= LY -110 4.0 300(36 8 44 N-3 s A -150 6.0 28.0
28 23 4v S+1 oA 450 7.0 27.0| 6 14 24 O= oA -110 4.0 30.0(10 34 3NS-5 oA -250 2.0 32.0
36 8 44 N-1 LY -50 0.0 34.0|36 8 14DV +1 &A -360 00 340|16 4 64 S-8 oA -400 0.0 34.0
25 4 K62 26 & Kn42 27 « 108
Nord vE83 Ost vEG3 Syd vKD1093
oV + E864 Alla + D103 Ingen 49854
£942 #DKn92 *Kn7
«D7 4 E1043 a- 4 EK10653 4 EKD64 4 Kn952
vKD9542 v1076 vK108742 v95 v EKn2 v 754
¢ 95 ¢ Kn2 ¢ EKKn ¢ 9754 *- ¢ K10763
#EK10 #DKn53 #E863 *4 #EK1082 #3
& Kn985 « D987 473
vKn v DKn v 86
¢ KD1073 ¢ 862 ¢ EDKn2
*876 #K1075 #D9654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
29 24 34 S-1 & A -50 340 00| 7 15 3NV-4 & A 400 340 00| 8 14 6#V-3 & A 150 34.0 0.0
13 32 24 S-2 oA -100 320 20|13 32 3v V-1 oA 100 29.0 50|11 34 64 O-2 oA 100 31.0 3.0
121 2vV+2 & A -170  23.0 11.0{19 3 44 0O-1 LY 100 29.0 50|12 33 6& V-2 LY 100 31.0 3.0
2 20 2v V+2 & A -170  23.0 11.0(28 25 24 V-1 & A 100 29.0 50| 6 16 64 V-1 & A 50 28.0 6.0
4 18 3v V+1 s A -170  23.0 11.0(29 24 24 V-1 oA 100 29.0 50(17 5 2vy N-2 oA -100 26.0 8.0
7 15 3v V+1 & A -170 23.0 11.0| 8 14 34 O= LY -140 22.0 12.0| 4 18 24 V+3 LY -200 24.0 10.0
8 14 3v V+1 & A -170 23.0 11.0(10 35 24 V+1 s A -140 220 12.0| 2 20 44 V= & A -420 18.0 16.0
10 35 3v V+1 oA -170  23.0 11.0|12 33 34 O= oA -140 220 12.0| 7 15 44 V= oA -420 18.0 16.0
11 34 2v V+2 & A -170 23.0 11.0(11 34 3v V+1 s A -170  17.0 17.0(19 3 44 V= LY -420 18.0 16.0
17 5 3v V+1l & A 170 23.0 11.0(27 26 34 O+1 &A -170  17.0 17.0(31 22 44 V= & A -420 18.0 16.0
12 33 3v V+2 oA -200 8.0 26.0| 6 16 3v V+2 oA -200 14.0 20.0|36 9 44 O= oA -420 18.0 16.0
19 3 2vV+3 & A -200 80 26.0| 4 18 4v V= LY -620 9.0 250| 1 21 4eV+1 LY -450 9.0 25.0
23 30 2v V+3 & A -200 80 26.0|17 5 4v V= & A -620 9.0 25013 32 44 O+1 &A -450 9.0 25.0
27 26 2v V+3 & A -200 8.0 26.0|31 22 4v V= oA -620 9.0 25.0|23 30 44 V+1 oA -450 9.0 25.0
28 25 3v V+2 & A -200 80 26.0|36 9 4v V= LY -620 9.0 25.0|29 24 4e V+1 s A -450 9.0 25.0
31 22 3v V+2 & A -200 8.0 26.0| 1 21 4v V+1 s A -650 2.0 32.0|27 26 44 V+2 s A -480 4.0 30.0
36 9 3vV+2 s A -200 8.0 26.0| 2 20 4v V+1 s A -650 2.0 32.0|10 35 64 V= oA -980 1.0 33.0
6 16 4v V= s A -620 0.0 34.0|23 30 4v V+1 s A -650 2.0 320|128 25 64 V= oA -980 1.0 33.0
28 «E109 29 « ED85 30 « D94
Vast v KKn2 Nord v 94 Ost v K106
NS ¢ EK3 Alla + KKn109 Ingen ¢ 762
#9843 #K82 #K542
# 643 4 D72 109 « KKn742 « 83 « Kn10765
v 83 v 1064 vEKKn632 v7 v D54 vE32
+D98762 +54 ¢ 754 ¢E ¢ KD1054 ¢ EKn9
*72 #EDKn106 #Kn4 #ED10963 #EKn7 *98
« KKn85 463 » EK2
vED975 vD1085 v Kn987
¢ Knl0 + D8632 +83
*K5 *75 «D1063
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
519 6y N= A 1430 31.0 30| 1 23 440-3 & A 300 340 00| 2 22 3NV-2 & A 100 340 0.0
11 35 6y N= A 1430 31.0 30| 7 17 44 O-2 oA 200 320 20| 3 21 3¢ V-1 oA 50 270 7.0
13 33 6 N= A 1430 31.0 30| 5 19 3vVv-1 oA 100 24,0 100| 5 19 3¢ V-1 LY 50 270 7.0
20 4 6y S= A 1430 31.0 30| 8 16 44 0-1 & A 100 240 10.0| 7 17 2NV-1 & A 50 270 7.0
28 27 3NN+4 aA 720 2600 80| 9 15 4v V-1 oA 100 240 100|18 6 24 0-1 oA 50 270 70
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3NN +3 a A 690 22.0 12.0(13 33 44 O-1 s A 100 240 10.0({20 4 3NO-1 s A 50 7.0
4N N +2 s A 690 220 12.0(14 32 34 0-1 s A 100 24.0 10.0(28 27 2¢ V-1 s A 50 7.0
3NN +3 s A 690 220 12.0(28 27 3v V-1 s A 100 240 100(29 26 INV= s A -90 14.0
4v N +2 a A 680 13.0 21.0(29 26 54 0-1 s A 100 240 100| 1 23 24 O= s A -110 18.0
4v N +2 s A 680 13.0 21.0(24 31 3+ V+1 s A -130 150 19.0(14 32 3¢ V= s A -110 18.0
4v N +2 s A 680 13.0 21.0(36 10 44 0= s A -130 15.0 19.0(24 31 24 O= s A -110 18.0
4y N +2 a A 680 13.0 21.0| 3 21 540+= s A -600 10.0 24.0( 9 15 INV+1 s A -120 24.0
4v N +2 s A 680 13.0 21.0(11 35 3NO= s A -600 10.0 24.0(13 33 1INV +1 s A -120 24.0
44 N +2 s A 680 13.0 21.0(20 4 5#0= s A -600 10.0 24.0(36 10 1INV +1 s A -120 24.0
4v S+1 a A 650 6.0 28.0| 2 22 44 V= s A -620 5.0 29.0|11 35 2¢ V+2 s A -130 28.0
3NN +1 s A 630 40 300(18 6 44 O= s A -620 50 29.0(12 34 24 O+1 s A -140 30.0
6y S-1 s A -100 20 32.0|12 34 44 O+1 s A -650 1.0 33.0(30 25 2NV +1 s A -150 32.0
6N N -2 a A -200 0.0 34.0|30 25 4v V+1 s A -650 1.0 330| 8 16 1INV +3 s A -180 34.0
82 32 « Knl105 33 & Kn2
vED Vast v 10983 Nord v972
+ D863 ov ¢+ EKD Ingen + EK1043
&#EKNn987 D104 #1092
«D5 & EKKn10976 D4 & K976 4 EK 410953
v532 v Kn108 vEKDKn7 v654 v EK1085 v43
¢KKn1l0 +¢5 ¢ Kn7 +9 + D65 ¢ Kn972
#K10642 #D5 #KKn85 #97632 #Kn83 &EK4
&43 « E832 & D8764
v K9764 v2 v DKn6
¢ E9742 410865432 +8
&3 &E D765
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
54D O -4 &A 800 340 00| 3 23 5¢ S= aA 400 320 20|15 32 4v V-2 s A 100 0.0
44 O -3 s A 150 320 20|13 34 5¢ S= s A 400 320 20| 3 23 3NV-1 s A 50 3.0
3¢ S+1 s A 130 28.0 6.0[30 27 3NN= s A 400 320 20|12 35 3NO-1 s A 50 3.0
4¢ S = aA 130 280 6.0(14 33 4v V-2 aA 200 2800 6.0({30 27 24 S-2 a A -100 6.0
4¢ S= s A 130 280 6.0(21 5 3¢ S+2 s A 150 250 90| 8 18 INV+2 s A -150 9.0
44 O -2 s A 100 240 10.0(36 11 3¢ S+2 s A 150 250 9.0(25 1 INV+2 s A -150 9.0
44 O -1 aA 50 200 140 4 22 4¢ S= aA 130 19.0 150| 6 20 2NV +2 a A -180 12.0
34 O-1 s A 50 200 140| 6 20 4¢ S= s A 130 19.0 150(19 7 3NV= s A -400 14.0
34 O-1 s A 50 20.0 14.0(15 32 4¢ S= s A 130 19.0 150 4 22 3NO+1 s A -430 20.0
5¢ N-1 s A -100 16.0 18.0(19 7 4¢ S= s A 130 19.0 15.0|13 34 3NO+1 s A -430 20.0
24 O= s A -110 140 20.0( 9 17 INV-1 s A 100 13.0 21.0|14 33 3NV +1 s A -430 20.0
34 O= s A -140 8.0 26.0[29 28 3v V-1 s A 100 13.0 21.0|21 5 3NV+1 s A -430 20.0
34 O= aA -140 80 26.0| 2 24 5¢ S-1 s A -50 9.0 25.0(36 11 3NV +1 s A -430 20.0
1a V+2 s A -140 80 26.0|31 26 5¢ S-1 s A -50 9.0 250 2 24 3NV +2 s A -460 29.0
34 0= s A -140 80 26025 1 5¢DS-1 aA -100 6.0 280 9 17 3NV +2 s A -460 29.0
24 O+1 aA -140 80 260| 8 18 2v V= s A -110 4.0 30.0|29 28 3NO+2 s A -460 29.0
5¢DS-1 &A -200 1.0 33.0(10 16 2v V+2 s A -170 1.0 33.0|31 26 3NV +2 s A -460 29.0
5¢DN-1 &A -200 1.0 33.0(12 35 3v V+1 s A -170 1.0 33.0(10 16 24DS-3 &A -500 34.0
«KD3 35 «D 36 4 E104
vE76 Syd v 1063 Vast vD10
+ KDKn74 oV ¢ Kn1042 Alla + EKn986
&74 &#EK1095 &#EK3
4Kn876 &E52 4 K987 &Kn2 aKKn762 43
v D84 v Kn53 vKKn52 vED987 vKn v 8643
+E853 ¢109 +5 + D863 +54 + KD10732
#Knl0 #EKD98 &#D763 &84 #Kn10852 #D9
#1094 « E106543 « D985
v K1092 v4 v EK9752
¢ 62 + EK97 ¢-
#6532 &Kn2 &764
Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res
2¢DN= aA 180 330 10| 3 25 44 S= s A 420 300 40| 1 27 3NN+3 s A 690 0.0
2¢DN= a A 180 330 10| 9 19 44 S= s A 420 300 40| 7 21 4v S+2 s A 680 8.0
2v N= s A 110 300 40|14 34 44 S= s A 420 30,0 4.0|11 17 4y N+2 s A 680 8.0
3NO -2 aA 100 250 9.0(20 8 44 S= s A 420 300 40|16 32 4v S+2 s A 680 8.0
3% O0-2 a A 100 25,0 9.0|36 12 44 S= s A 420 300 40(|22 6 4v S+2 s A 680 8.0
3N O -2 s A 100 250 9.0 1 27 4v0-2 s A 200 240 10.0(26 2 4v S+2 s A 680 8.0
24DV -1 &A 100 250 9.0 4 24 34 S+1 s A 170 19.0 15.0|31 28 4v S+2 s A 680 8.0
24 V-1 a A 50 200 140(26 2 24 S+2 s A 170 19.0 15.0|36 12 4v S+2 s A 680 8.0
2¢ N-1 s A -100 17.0 17.0(30 29 24 S+2 s A 170 19.0 15.0| 3 25 3NN+2 s A 660 20.0
2¢ N-1 aA -100 17.0 17.0(31 28 24 S+2 s A 170 19.0 150| 4 24 3NN +2 s A 660 20.0
26 V= a A -110 140 20.0(11 17 34 S= s A 140 14.0 20.0|10 18 3NN +2 s A 660 20.0
2NO = s A -120 10.0 24.0( 5 23 24 S+2 s A 130 12.0 220|113 35 3NN+2 s A 660 20.0
INO+1 aA -120 100 24.0( 7 21 3¢ S= s A 110 9.0 25020 8 3NS+2 s A 660 20.0
INO+1 a A -120 10.0 24.0(15 33 3¢ S= s A 110 9.0 250 9 19 4v S+1 s A 650 26.0
IND O = s A -180 6.0 28.0|13 35 3¢ S-1 s A -50 50 29.0|14 34 3NN+1 s A 630 29.0
26DN-1 &A -200 20 320|16 32 3&#N-1 s A -50 50 29.0[30 29 3NN+1 s A 630 29.0
2v S-2 a A -200 20 32.0|10 18 3¢ S-2 s A -100 1.0 330( 5 23 4v S= s A 620 33.0
2¢DN-1 &A -200 20 320|22 6 5¢ S-2 s A -100 1.0 33.0(15 33 4v S= s A 620 33.0
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37 496 38 483 39 « EKn862
Nord vKn5 Ost vKD8 Syd v 1053
NS ¢ EKKn1062 oV 4853 Alla + Kn9
D96 #D10963 #Kn83
& Kn8 & ED43 4 EKn109 «D54 &K « D1097
vED3 v K10872 v 9762 vE43 v EKn6 v K842
¢ D8743 ¢9 + ED7 + KKn92 + ED10632 ¢ K84
&K72 #1043 &84 &752 &D52 109
4 K10752 4 K762 4543
v 964 v Knl105 v D97
+5 + 1064 +75
#EKn85 &#EKKn &EK764
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res
6 24 3v O-2 a A 100 340 00|27 3 INS+1 a A 120 340 00| 1 29 2¢ V+2 s A -130 6.0
12 18 2¢ N= s A 90 320 20|11 19 INN= s A 90 310 30| 4 26 3¢ V+1 s A -130 6.0
4 26 3v0O-1 s A 50 270 7.0(17 32 24 S= s A 90 310 30| 8 22 2¢ V+2 s A -130 6.0
8 22 3NO-1 a A 50 270 7.0(16 33 Pass 270 7.0[10 20 2¢ V+2 s A -130 . 6.0
10 20 3vO-1 Y 50 270 7.0(21 9 Pass 27.0 7.0(11 19 3¢ V+1 s A -130 . 6.0
21 9 3v0O-1 s A 50 270 7.0 5 25 INN-1 s A 50 240 10.0(14 35 2¢ V+2 s A -130 . 6.0
5 25 2¢ N-1 a A -100 19.0 15.0(10 20 3« S-2 a A -100 21.0 13.0(17 32 4¢ V= s A -130 . 6.0
11 19 2¢ N-1 s A -100 19.0 15.0(14 35 3#S-2 s A -100 21.0 13.0(36 13 3¢ V+2 s A -150 .0 14.0
14 35 3¢ N-1 s A -100 19.0 15.0| 6 24 3¢ O= s A -110 16.0 18.0(27 3 2v O+3 s A -200 .0 16.0
23 7 2¢ N-1 a A -100 19.0 15.0| 8 22 2¢ O+1 a A -110 16.0 18.0|31 30 1INV +4 s A -210 .0 18.0
17 32 2v O = s A -110 14.0 20.0(31 30 2¢ O+1 s A -110 16.0 18.0(21 9 5¢ V= aA -600 4.0 20.0
36 13 2NV = s A -120 12.0 22.0| 1 29 24 V+1 s A -140 110 23.0|16 33 4v O= s A -620 2.0 22.0
129 2¢v0+1 a A -140 7.0 27.0|23 7 24 V+1 a A -140 11.0 230| 2 28 3NO+1 s A -630 7.0 27.0
15 34 3vO= s A -140 70 27.0| 2 28 INO+2 s A -150 4.0 300| 6 24 3NV +1 aA -630 7.0 27.0
27 3 3v0O= s A -140 70 270| 4 26 INN-3 s A -150 4.0 30.0|12 18 3NV +1 s A -630 7.0 27.0
31 30 3vO= a A -140 7.0 27.0|12 18 INO+2 a A -150 40 30.0(23 7 3NV+1 aA -630 7.0 27.0
2 28 4vO= s A -420 2.0 32.0|15 34 INN-3 aA -150 40 300 5 25 3NO+2 s A -660 1.0 33.0
16 33 3vyDO= A -530 0.0 34.0(36 13 INO+2 s A -150 4.0 30.0|15 34 3NO+2 s A -660 1.0 33.0
40 « D875 41 & K42 42 «D10
Vast vED10 Nord v 102 Ost v Kn1073
Ingen + K95 oV + KDKn1094 Alla + KKn108
&K107 &E4 &Kn62
4Knl06 &E9%4 4 ED653 #Kn8 & EK763 #Kn9852
v7 v Kn9652 v 874 v EDKn963 vD652 v8
¢+ E1064 ¢ DKn +52 +6 +3 + ED7
#EKN983 #D52 &#Kn92  #D865 &#E108 #D973
& K32 41097 LY
v K843 v K5 v EK94
¢ 8732 ¢+ E873 4 96542
64 #K1073 &K54
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
6 26 2v O-3 a A 150 330 10| 5 27 5vD0O-3 &A 800 340 00|15 35 54 O-1 aA 100 0.0
18 32 3NV-3 aA 150 33.0 10|18 32 5¢DN= aA 550 320 20| 6 26 44 V= a A -620 . 8.0
16 34 INN+1 s A 120 29.0 50(13 19 4¢vDO-2 A 500 29.0 50| 7 25 4e V= s A -620 . 8.0
22 10 INN+1 a A 120 29.0 50(36 14 4¢vDO-2 &A 500 29.0 50| 9 23 4e V= s A -620 . 8.0
17 33 1INV -2 aA 100 26.0 8.0(17 33 3NS+1 aA 430 260 8.0(12 20 44 V= a A -620 . 8.0
7 25 INN= s A 90 240 10.0f 3 29 3NS= s A 400 20.0 14.0|13 19 4e V= s A -620 . 8.0
329 2¢ 0-1 a A 50 200 14011 21 3NS= s A 400 20.0 140|16 34 44 O= aA -620 . 8.0
24 8 2v 0O-1 aA 50 20.0 14.0|16 34 3NS= aA 400 200 14.0(17 33 44 V= a A -620 . 8.0
36 14 34 V-1 s A 50 20.0 14.0(22 10 3NS= s A 400 200 14.0( 3 29 44 V+1 s A -650 .0 19.0
1 31 INS-1 a A -50 15.0 19.0|24 8 3NN= s A 400 200 140(11 21 44 V+1 s A -650 .0 19.0
13 19 24 N-1 aA -50 15.0 19.0( 9 23 4v 0O-3 s A 300 14.0 20.0|18 32 44 V+1 aA -650 5.0 19.0
2 30 INN-2 s A -100 10.0 24.0( 1 31 4¢ N= s A 130 80 26024 8 44 V+1 s A -650 50 19.0
9 23 INS-2 a A -100 10.0 24.0| 6 26 4¢ N= s A 130 80 26.0| 1 31 44 V+2 s A -680 50 29.0
11 21 INS-2 aA -100 10.0 24.0| 7 25 4¢ N= aA 130 80 26.0| 2 30 44 V+2 a A -680 50 29.0
5 27 3 V= s A -110 4.0 30.0|12 20 3¢ N+1 s A 130 8.0 26.0| 5 27 44 V+2 s A -680 50 29.0
12 20 24V +1 a A -110 40 30.0|28 4 3¢ N+1 s A 130 8.0 26.0|22 10 44 V +2 s A -680 5.0 29.0
28 4 3&V-= aA -110 4.0 300| 2 30 5¢ N-1 aA -50 1.0 33.0(28 4 44 O+2 a A -680 50 29.0
15 35 3&V+1 s A -130 0.0 34015 35 5¢ N-1 s A -50 1.0 33.0|36 14 44 V+2 s A -680 50 29.0
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